H & 0l & AHS B Ml A

S E=={\[{E PN}
D tsnsS N

2N 22 & A

SA B SABH) - KIRAY - BLS o &r o) 3 o HIDS2
Ol LA X1 2t 24,661,401 21,514,872 3,146,529
= 1,712,579 1,712,579 0
[ 466,000 466,000 0
Jl 24,100 24,100 0
= 25,000 0 25,000
s 1,850,134 1,789,318 60,816
i 20,583,588 17,522,875 3,060,713
Hsus X 10,792,300 10,710,034 82,266
= 32,279 32,279 0
[ 466,000 466,000 0
Jl 20,000 20,000 0
& 694,394 683,578 10,816
T 9,579,627 9,508,177 71,450
A 22 ¥ XA 10,506,031 10,402,293 103,738
= 7,800 7,800 0
[ 466,000 466,000 0
Jl 20,000 20,000 0
S 671,908 661,092 10,816
T 9,340,323 9,247,401 92,922
HANSI2+=SH HEXZ 3,483,863 3,468,863 15,000
S 606,628 604,128 2,500
= 2,877,235 2,864,735 12,500
307 glztol & 3,482,710 3,467,710 15,000
= 606,628 604,128 2,500
o 2,876,082 2,863,582 12,500
09 2+ AHELS 3,482,710 3,467,710 15,000
o SEAl WHl XIHAS
1,000,000 5% 5,000 0 5,000
= 2,500 2,500
s 2,500 2,500
SEIAIDI A (ALRA!) EHI NI
10,000,000 * 104 2 10,000 0 10,000
EIAl 2 X2 AL 122,980 122,490 490
= 7,800 7,800 0
o 115,180 114,690 490
201 Let=Ehl 980 490 490
01 AtR2t2|HI 980 490 490
CEAIURIIRE] BT
g8 70,0003 x7& 23] 980 490 490
WENL OlSE S 2 368,618 330,370 28,248
7l 20,000 20,000 0
s 35,280 26,964 8,316
o 303,338 283,406 19,932
201 fer= 3| 490 1,018 N528
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2A:

X XH -
o=

WSO X2t
H=suws X

R 24H 22 ¥ XN (CH9: /M)
M- SA(3) - MRAY - BES (1;| Palgely I & A Hlns
2 23294l 0 528 528
SHISKEIAl ZEIAIAE Ol
a3 o 0 528 N528
307 QI2+0I& 358,128 329,352 28,776
bl 20,000 20,000 0
[ 35,280 26,964 8,316
2 302,848 282,388 20,460
05 RIZIREFZ 329,880 240,000 89,880
o WEAX HILHEHAl X
1,872,500 x40 * 12 89,880 0 89,880
[ 26,964 0 26,964
= 62,916 0 62,916
09 242AAHEX2 28,248 89,352 A61,104
o WEAX HILHEAl X
3 o 89,352 189,352
< 26,964 N26,964
2 62,388 62,388
CWEAX HIRHEAl KR (FI})
1,765,500 x4 CH x4 28,248 0 28,248
(= 8,316 0 8,316
= 19,032 0 19,932
SES WERHAIE (1002 BAIRY) 390,000 330,000 60,000
z 100,000 100,000 0
(= 30,000 30,000 0
= 260,000 200,000 60,000
307 QI2+0|& 290,000 230,000 60,000
z2 100,000 100,000 0
[ 30,000 30,000 0
= 160,000 100,000 60,000
09 24LHEX2 290,000 230,000 60,000
o BHEEIAI(1009) XIA(Z2HIZH
60,000,000 60,000 0 60,000
Hzns 435 235,715 257,187 N21,472
= 24,479 24,479 0
[ 22,486 22,486 0
= 188,750 210,222 N21,472
S EXIE U AIY 0 22,000 A22,000
401 AlEHI2L 20 0 22,000 A22,000
01 Al&HI 0 22,000 A22,000
o=EHA EXT HH| 3 0 0 22,000 A22,000
WIESmES 149,615 149,087 528
201 Lete | 93,015 P, 487 528
® Z229Y| 12,048 11,520 528
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A WS X
2 Uzsus XN

-

ool Hsus 43t (SH9 H2)
SA - ZE - SA(FH) - AIRAY - BES Ofl &kl N3 A Hunsz
OHIRMEAl Z2lAAE 018
11,0002 x40« 12& 528 0 528
Ofl A RI 2 KH2OH - 7,840,573 7,725,573 115,000
= 1,680,300 1,680,300 0
J| 4,100 4,100 0
£ 25,000 0 25,000
& 1,105,740 1,105,740 0
= 5,025,433 4,935,433 90,000
nSotd ASI| X Y 2el 374,800 259,800 115,000
S 25,000 0 25,000
& 30,000 30,000 0
z 319,800 229,800 90,000
ASI| HX L W 249,800 184,800 65,000
401 Al2HIZ 2 CHH| 195,000 130,000 65,000
01 Al&t] 195,000 130,000 65,000
oTHAYN IEYE BES X
15,000,0002 15,000 0 15,000
CAHIH 2 fI8EE dES &X
20,000,000& 20,000 0 20,000
oAl SIEXSE NSAES 4X
30,000,000& 30,000 0 30,000
SHASS &0 AlZE EAID| X 50,000 0 50,000
S 25,000 0 25,000
= 25,000 0 25,000
401 Al HIZLS0HY| 50,000 0 50,000
S 25,000 0 25,000
= 25,000 0 25,000
01 Al&Hl 50,000 0 50,000
oZ2HUSS T AlZE EAIDI EXISAHIN
&) 50,000,000& 50,000 0 50,000
= 25,000 0 25,000
i 25,000 0 25,000
IME==2==PN =¥ 5,842,000 3,022,000 2,820,000
& 50,000 0 50,000
= 5,792,000 3,022,000 2,770,000
FXtEtd e 5,700,000 2,980,000 2,720,000
SEF=XE EX2Y 5,700,000 2,980,000 2,720,000
401 AlEHIZ20HY| 5,700,000 2,980,000 2,720,000
01 Al&Hl 5,700,000 2,980,000 2,720,000
OoBYFIUE HIIX SHA XA
ZE 02 0 180,000 180,000
=J|2us| 212 SAFIE Z8AY FX
oH Y| 1,800,000,000& 1,800,000 0 1,800,000
o2t 212 SEFAE ZEAMY 22X
oH Yl 1,100,000,000& 1,100,000 0 1,100,000
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2A:

X XH -
o=

WSO X2t
wWE=L S

&elr nssXl EER=E)
SA - B SA(3) - MRAY - BES 0l aroy |l 8 o HimE=ET
WSS 142,000 42,000 100,000

< 50,000 0 50,000
= 92,000 42,000 50,000
us A= 142,000 42,000 100,000
< 50,000 0 50,000
= 92,000 42,000 50,000
401 AlEHIL 20| 100,000 0 100,000
< 50,000 0 50,000
i 50,000 0 50,000
01 Al&HI 100,000 0 100,000
cHEE WSAUH AES HEMS(FRIE
g xIeteEd JHEAL)
100,000,000& 100,000 0 100,000
< 50,000 0 50,000
= 50,000 0 50,000
Hees(nsouUx) 129,263 0 129,263
WEHHXIE 119,706 0 119,706
WEHAHXIE 119,706 0 119,706
701 JIEtBIHISHES 119,706 0 119,706
01 JIEtal AN ES 119,706 0 119,706
oFXH2HELN HES
119,706,000& 119,706 0 119,706
SEXE 9,557 0 9,557
BXXE 9,557 0 9,557
802 gtet=0IEt 9,557 0 9,557
01 2 NEXSEHE= 362 0 362
o202 ZABISKIR (Ol XL E)
349,450 350 0 350
o022 BHAIZXHE &AL (01 XL
3,520 4 0 4
o20223 LPGEJ| AISIt= AIEHEA
6,410 7 0 7
o022 LEAFHEAIA XIAAG (0l RHeA
&, 2hx) 9703 1 1
02 Al - EHIEE=SEHEZ 9,1% 9,19
o202 ZBISXIA (01X E)
174, 7208 175 0 175
o20224 WSAX HHRMENAl X2 (Ol RHEE)
9,019,920 9,020 0 9,020
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